


A Few Updates

* Now testing with MC track finding. We use the true sTGC points to
make the first track prediction and then refit with the measured
points.

* ¢ strips for outer sensors are now defined properly.

* Before, the gap was not accounted for and therefore the center of the strips
were not in the proper place.
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Middle plane inner sensor
36.

4.99 < pT <5.0 GeV/c
09<¢ <1.7rad
29<n<4.4
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Middle plane inner sensor
36.

4.99 < pT <5.0 GeV/c
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29<n<4.4
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Middle plane inner sensor
36.

4.99 < pT <5.0 GeV/c
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Middle plane inner sensor

36.

4.99 < pT <5.0 GeV/c
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29<n<4.4
no misalignment
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Middle plane inner sensor

36.

4.99 < pT <5.0 GeV/c
09<¢ <1.7rad
29<n<4.4

no misalignment
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Middle plane inner sensor

36.

4.99 < pT <5.0 GeV/c
09<¢ <1.7rad

29<n<4.4

no misalignment
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Middle plane inner sensor

36.

4.99 < pT <5.0 GeV/c

09<¢ <1.7rad
29<n<4.4
no misalignment

10

10

10%

10

R Strip 0

L I TT1rrr | Tr1r rr I TTrrr I Trrr I T T1rrr I L T R_I 1 _SO
— Entiies 49759
E e Mean 6.327
C P R
oy * M‘”M"ﬂ*wﬁ -yt Std Dev 0.8274
- + A

T
1

T T T T
1 lllllll

T
1

T T TTTTT
llllllll

el Py by by by byaaa |l

5 55 6 65 7 15 8
truth r (cm)

R Strip 2
TruthR_l1_s2
:I LI I rrTT | rrrr | LI I LI | LI | —— 26602
B Mean 12.13
- “H#i""*#w Wwﬂ++w+ﬂw+‘1}m##w+@w W{'ﬂw SidDev  0.8260

T

.}

T T
IIIIIIII

T
1

T T T TTTT]
llllllll

'_TllIIllllllllllllllllllllllll[ll"l—

10.5 11 115 12 125 13 13.5

truth r (cm)

R Strip 1
3 TruthR_I1_s1
10:...|...‘l....|....|....|....|.E_ —3;9
- ntries 13
C Mean 0234
B '“rWnW»WWﬁ*m’fm gt g | S Doy 08324
+
L P
10% = =
10 E
T v v b by v Py a by v
8 8.5 9 95 10 105 11
truth r (cm)
R Strip 3
TruthR_I1_s3
|_| LI I L I LI I | | LI | LI | LI | -
Entries 20519
i can 44 Mean 15.02
i Mﬁﬁ“ﬂ?f AN +»++f+ﬁ+***ﬂﬂf¢++ﬂﬂ*++{p}ww SdDev  0.8281
t t
10° E
10 —
1 l 11 11 I 1111 I 111 1 l 111 1 l 1111 l 11 11 l 1-1]
135 14 145 15 155 16 16.5 25

truth r (cm)




Things to try and other info

* Daniel asked me to try iterating the Millepede alignment procedure
once,

e Still waiting for sTGC misalighed geometry to compare performance
of Millepede with cartesian and polar detectors.



